GIẢI BÀI TẬP 34 TRANG 123
SGK TOÁN 7 TẬP 1 – PHẦN HÌNH HỌC
Câu hỏi
Trên mỗi hình 98,99 có tam giác nào bằng nhau? Vì sao?


Đáp Án
Xem hình 98)

[image: image1.jpg]AABCva AABD c6
+) CAB=DAB ()

=) AB/la canh chung.

+) ABC=ABD(gt

Suyra AABC = AABD (gc)




Xem hình 99)

Ta có:

[image: image2.jpg]By+B, = 180" (Hai goc ké bi).
Cr+ Cy = 180" (Hai goc ké bui)
Ma By=Cj () nén By=Cy

* AABDva AACE cs

) Bi=C; (em)

+)BD=EC @)

2)D=FE (@

Suyra AABD = AACE (gc9)
DC=DB+BC
EB=EC+CB

Do d6: DC = EB

* AADCva AAEB s
+)D=E (@)

+)Co=B; @)

+)DC = EB (emy)

Suyra AADC = AAEB (gco)




Toán lớp 7
Giải toán lớp 7 tập 1

